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Before answering the questions, candidaies should ensure tHhat the:

have been supplied the correct and complete question paper. No
coiy! mrf int this regard, will be entertained after examination.

AVl w 9P G ?? gee werref gw \’ﬂ/ dd Gy o [ gl
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~velter Atempt five questions in all, selecting one question
fron each Section. Question 0. 1 is Lompm'sorg_

USG9 W TF YT G BY, A Ui we @
TR <) W e 1 a7 €
y‘.i’)/\\"}mt happens when propanoic acid reacis with
AgOUH followed by Br, / CCl ne &
Br, /CCl, 3 Wia) a2 @0 wa i g o
AgOH @ |1 Rae &rar &, aa a7 oxar & 2
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(b “Give an example of compound showing 6 - c*
transition.

c—oc* TR ® TWR §Y FEUNS B
JETERVT T | |
,_»{5 What is IUPAC name of Q-cresol ?
Q-4 & IUPAC M &1 & 7
(d)-Which bond cleavage take place in alcohol for

<~ esterification reaction ?

tedifreTd RUge & foy Yemeia § M-

 dfs Tl e v # 7
_,.{?",r "What are vicinal glycols ?
fafeser Tegmicn @ © 7
SECTION - A
grg -3

2. (3)” Discuss briefly the effect of H-bonding on solubility
4 and boiling point of isomeric alcohols. 4.75

agEARe tepRie @ @ @iEge 9
wregfaferd! R H-8IRET & wre &) wfera anwn
TR |

_,({ff . Write the reaction between : 4
= & fra Roaws ford
(i) Alcoholand SOCI,
YeHEra v SOC,
92077-500-(P-7}{Q-9)(14) (2)
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(ii) Alcohol and POClL, : r
Yeretel & POCI,

3. (a) How are following conversions carried out : 2

e et o 9 G amee ¥
(i) 2 Propanol to 1-propanol.
2 st d 1-HeTe
(ii) Ethyl alcohol to Ethylene glycol.
URrer Yemreter ¥ TR engste
(b) Give the mechanism of acid catalysed ring

\_/,ppening of Epoxide by taking example of their
hydrolysis. . 4.75

FERING &1 SR o) g0 3UNES ®
dafrr R tRis deomwe @ d9fn @
ATy | -

(c) Write two melthods of preparation of Epoxide. 2
TS & WRe @ g R ford
SECTION -B
HrE -9

4, 1 Arrange the following in increasing order of
- acidic strength : 4.75
S PR v e @ g §C %1 A Ry

p-methoxyphenol, p-cresol, p-nitrophenol, Justify
the order giving reasons.

92077-500-(P-7)(Q-9)(14) (3) - R.T.0.



pITRATSIATE,  p-ghidie, p-‘Tﬁ'{;sl'Cfﬁ’-‘ﬁﬁ & W
fore @ FRU P W BT |
‘}b«j/Dlscuss the mechanism of following reactions: 4
= Rugem @ dafom @1 aren $ifeg
(fﬁf .iicimer-Tiemann reaction, "
i1) Fries rearrangement. /
WA JINGATT |

5. (a) Cxplain the directive intiuence of ~OH group
present on benzene ring towards the electrophilic
substitution reaction. 475

1 W Suferd -OM YU & eEefded gyl
W e HAT |

(b) How will you convert ? 2
A Y aRafda w8 ?
(i) Phenol to salicylaldehyde,
v $1 Afefaaviesrs,
i) Phenol to phenolphthalein.

A ®) WA |

592077-600-(P-7)'Q-9)(14) (4) .i




{c) How wili you prepare phenol from ? 2
Riter ¢ ama 1 AR WA 2
(i) Grignard's reagent, —~
frmre siiae,
(ii) Diazonium salt. ¥ o
TETANTT iet |

SECTION -C
g -9

6. (a) Explain the following terms : 3
=1 Tt @) wmEn ‘
(i) Auxochrome, 7

w-1) ST

_/// (i) Bathochromic shift. /

YA e

(b) How can UV spectroscopy be used to distinguish
between the following : 3

= ® du UV ARl @ 9ErT T 8
g HY == = wea €

(i) Homoannular and Heteroannular dienes,

EMITHER Td 2feRICTeR SN,

(i) Ethyl benzene and slyrene.

el 9viF Ud TN |

92077-500-(P-7)(Q-9)(14) (5) P.T.O.



{c) State Beer-Lamberts Jaw. e

Eﬁm-ﬁwévﬁmaﬁw@i

2.7

/Z,,ﬁ'j’ Describe woodword-Fieser rule for Cileulating
= 2

may N &, B-unsaturated ketones, 4.7¢
%P BT A A omy ey @ ferg
ISR fram @ amen o)
M Write a short note on following : 4
| w1 o Wi ore il -

C(zf Types of Electronic transitions, \.J//H

ﬁ Principle of absorption spectroscop;,

TSI aE R o Rrgr=r |
SECTION -D
TS g
8. (3 Explain the following terms 4
Frafafaa ot o AT HIFAT
(Lia" "?\llemaﬁon effect,
MI] vohlard zehlinsky reaction. __—
o AEAE el R |

82077-500-{P-7)(Q-9)(14) { 6)



iscuss the mechanism of decarboxylation of

acetic acid. - 275 _ "
wWfrs I @ %aa'ra‘rﬁméﬁm T Aoy #
ﬁaﬁﬁaﬁﬁm

9. () What is nucleophilic acyl subsnluhon ? Discuss

its mechanism. 4.75
fFedifthicier TATEH AEeIc]yH 401 & ? 38
T @ Rl Hiferg

(b) How can acetamide be prepared from : 2

(i) Ethanoic acid,
(i) Ethanoyl chloride.

=1 & oRremise &9 Far e wod ¥
(i) g YRS
(i) ST FANIES |
(c) Complete the following reaction : 2

=1 Ruara &1 oot #ifg eyl et Ca

i) CH,CO0CH, Nldel ,C ) HOY+OH, Covly
esder 1,0
(i) CH,CONH, /" »

€2077-500-(P-7){Q-9)(14) (7)



	1.pdf
	2.pdf
	3.pdf
	4.pdf
	5.pdf
	6.pdf
	7.pdf
	8.pdf
	9.pdf
	10.pdf
	11.pdf
	12.pdf
	13.pdf
	14.pdf
	15.pdf
	16.pdf
	17.pdf
	18.pdf
	19.pdf
	20.pdf
	21.pdf
	22.pdf
	23.pdf
	24.pdf
	25.pdf
	26.pdf
	27.pdf
	28.pdf
	29.pdf
	30.pdf
	31.pdf
	32.pdf
	33.pdf
	34.pdf
	35.pdf
	36.pdf
	37.pdf
	38.pdf
	39.pdf
	40.pdf
	41.pdf
	42.pdf
	43.pdf
	44.pdf
	45.pdf
	46.pdf
	47.pdf
	48.pdf
	49.pdf
	50.pdf
	51.pdf
	52.pdf
	53.pdf
	54.pdf
	55.pdf
	56.pdf
	57.pdf
	58.pdf
	59.pdf
	60.pdf
	61.pdf
	62.pdf
	63.pdf
	64.pdf
	65.pdf
	66.pdf



